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We .are learning to...

WALT: wse part-whole
model S2S

(Aizpﬁ to sucCCRAA):
I can:
e count in tens and ones

e uAse bhase ten and tens frames to
count

« Sh.ow muy number in a paort -wh.ole

m.odel & Play
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In f,o,c:,u./s

) Hom maniy?

2) What comes next? 36, 37, 38, 39

3) Which is equal to 5 tens?
4:14:,1;;3 or fifteen

L) What comes next? 32, 31, 30,



lets learn (¢

Part-whole model...



Part whole model

1 ten and 6 ones =



Part whole model
Have a think

3 tens and 8 ones = 38



Part whole model

2 tensand 7 ones =27



Part whole model

35
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4 tens and 1 one = 41
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Guided proctise >

Representing
numhbers AMALNG
Aifferent
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Representing numbers to 50
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Independent practise

o Complete the part-whole model for each picture. / ‘ e
D

Xe —

vo

b)
2 (=)
o Make these numbers with counters or cubes. @ °
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| b) twenty-one
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| o Draw a picture to motch each part-whole model.
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G ) Mo has filled in this part-whole model.

What mistoke haos Mo made?




Plenary  °°
There are 2 tens and 3
ones. My numhber is 23.
Could youw draw this

UALN ase ten and
ONneAs"
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